World Trade Organization (WTQ)

WTO came ino existence on 1 January, 1995 in place of GATT (General Agreement on Trade & Tariff). The WTO is a
powerful body which broadly aims at making the whole world a big village where there 13 free flow of goods and services;
capital technology and people and where there are no bamiers to trade. s present membership is 164 countries 164
countries accession of which 117 are developing countries or separate customs territories accounting for about 95% at
world trade. WTO forbids the use of quantitative restriction on trade. WTO organizes and manages trade in goods and
services, TRIPs (Trade Related Intellectual Property Rights) on the world level, Agreement of trade related intellectual
property rights patent amendment act | 9949 was passed for providing EMRs (Excluesive Marketing Righes).

*  PTA - Plurilateral Trade Agreements

*  MTA - Muli Lateral Trade
Engmrﬂ - Money & Hnnkfgd

Meaning of Mongy:

Anything which performed the following three functions is known as money

(1) Served s medium of exchange

{ii} Served ax a common measure of value and

(R Served s a slore of values, was térmed &5 money.

It thus inclodes, not only currencies and demand deposits (Saving Account) of banks, but also inclodes & host of financlal
asfets 2och as bonds, povemment sscurities, and time deposits with bankcs (Fixed Deposit) and equity shares which serve as
# slore of vatue,

Bills of exchange are sometimes known as Near Money

= Cusrency with the public i.e., coins and currency notes + Demand deposits of the public known 85 narrow money.
ME""MI + Post office saving depasits.
M3 = M1 + Time{fixed) deposits of the pubic with banks called broad money .
Md = M3 + Total post office deposits. (Exchoding National Saying Certificates)
The third RBI working group (1993) redefined its parameters for measuring money supply and introduced new monetary
aggregates (NM).
MM = Currency + Demand deposits + Other deposits with RBIL
WM2 = NM]1 + Time liabilities portion of saving deposits with banks + Centificates of deposits issued by banks + Term
deposits maturing within a year exchading FCNR (B)
{Foreign Currency now Reserve Bank Deposits).
NM3 = NM2 + Term déposits with banks with maturity over ane year + Call / term bomrowings of the banking system.
NM4 has been excluded from the scheme of new monetary aggregates. Thres liquidity aggregates are also introduced L,
Lz La.

Euncrions of Bank

(a) Receipt of deposits

(b} Lending of money

{c) Agenty sirvices (e Payment of bill)

(d) General services (Jocker, issue DDY)

{e) ATM {Automatic Teller Maching) | Automated Banking Machine { ABM)

(H RTGS (Real Time Gross

(g) NEFT (Mational Electronic Fund Transfer)

(h) ECS (Electronde Clearing Service)

Commerclal Banking in India: Government announced the nationatisation of 14 major commential banks with effect from
July, 1969. Six more banks were nationalised in 1980, (Two banks were merged in 1993, so at present there are 19
nationakised banks),

Scheduled: Under RBI [Co-op, private (ICICI, HDFC), Public (National Banks, SBI, Union Bani),

Foreign (Citi Bank, HSBC Bank))

'Hnl Scheduled: Mot du'u:ﬂ;.' l.llll-dllﬂ.r REBIL

{l.uj Hgﬂmufmi:urwdm
(i) Viclation of norms and granted loans to even those industries which figured no where in the priority lst.
{¥) MNeglect of priority sectors,
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i) Expansion of branches: Increased to 1,34,000 in 2016, As a resali, the population per bank office has reduced to

arownd 10,000 in 20146,

(i) Branch opening in rural and unbanked areas: Percentage of rural branches bank improved to abouat 37 per cent in
Jume, 2016,

(iif)  Deposit mobilisation: Increased to arcund 93,27,300 crore in 2016, Considering state-wise deposit mobilization,
wmmmwmmﬂwmnwwumwmhmwm
[Agriculture + 851 + Retail Trade = 34% in 2016)

(i)  Bank lending: It has gone up 1o about T 72,50,000 crore in April, 2016. Banks have
taken-special care of the priogity sectors in their lending operations.

) Promation of new entreprensurship

(vi)  Due o stringen: credit nosms the gross NPAS (Mon-Performing Assets) have fallen. As a percentage of gross

advances, they have fallen from 10.5 percent in 2001-02 to 3.6 per cent in 2012-13. But NPA has increased to

9E3%% i 2001516,

=

k: A Central Bank 15 oné which constitutes the apex of the monetary and banking

Issue of currency: Other one rupes coins and notes and subsidiary cokns, the magnituds of which s relatively small.
(i) Banker to the government

(i} Banker's Bank

(v} Costodian of foreign Exchange Reserves

(%) Cantrafler of Credit

{vi)  Promotional Functions

(vii}  Collection and publication of Data

Indian Menctary Policy

Monetary Policy iz usvally defined as the Central Bank's policy pemaining o the control of the availability, cost and use of

meney and credit with the help of monstary measures in osder o achieve specific goals.

I Craniiaiive or Gemeral Measures:

{a) Bank Rate Policy: Bank Rate is the rate a1 which central bank rediscounts the spproved bills held by a
commercial bank for Jomg term. (6.25 in Augest 2017}

(BR increase - Supply of Money Decrease - Inflation decrease & Vise Viersa)

(b Open market operations: Open market operations imply deliberate direct sales and purchases of securities in the
market by the Central Bank on its own. (Market Security sell - Money supply in market decrease - inflation
decrease & Vise Versa)

(e} Variable reserve requirements; (i) Cash Reserve Ratio (CRR) (i) Statstory Liquidity Ratio (SLR). Cash reserve
ratio refers to that portion of total deposing which a commercial bank has to keep wilh the Central Bank in the
form of cash reserves. Statwtory lquidity, ratio refers to that portion of total deposits which & commercial bank
bas 10 keep with itself in the form of liquid assets viz - cash, gold or approved povernment securities. By thess
riatios, the Central Bank controls credit in the economy. {CRE was 4% in Axg, 17, SLR was 20% in July 17.)
{CRR / SLR increase - Supply of Money Decrease -Inflation decrease & Wise Versa)

(d) Repo Rate and Reverse Repo Rate; Repo Rate is the rate at which our banks bomow repees from RBIL Repo
Rate is 6% 0 August 2017,

Reverse Repo Hate is the rmte at which Reserve Bank of India (REF) bormows money from banks. Reverse Repo
Rate is 5.75% in August 2017,
(Repo Rate increases - supply decreases - inflation decreases & vise versa)
(Reverse Bepe Rate intreases - supply decreases - inflation decreases & vise verss)
IE Qualitative or Selective Measures:
{2) Securing loan regulation by fixation of margin requirements (Vahae of security = Value of Loan).
3] Consumer credit regulation: Number of Installments & Down Paymeént,
(e Issue of divectives 1o CB (Commencial Bank).
(d) Rationing of credit: Regulating the purpose for which credit is granted or allocated by commercial
banlkes.
i) Moral suasion: Moral suasion implies persuasion and request made by the Central Bank to the
) commiercial banks to co-operate with the peneral monetary policy.
ify Direct Action: The Central Bank may take direct action against the erring Commercial banks.

Exra’s
« RBI was nationalized in 1949,
v land development Bank provides boams for a period of 15-20 yvears,
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Minimum Reserve System method of pote issoe is prevailing in India.

Banking ombudsman means a person who redresses cusiomer's grievances,

RBI Act was made in 1934,

1975 (Regional Rural Banks 196).

1952 National Bank for Agriculture and Rural Development Bank (NABARD) was established.

Al present (in Aug. 2017), Bank rate is 6.25%, CRR is 4% and SLR is 20% for entire demand and time
Isabilisies,

BB 13 established in 1935 under RBI Act, 1934

Monetary policy of central bank
Monetary policy ig the policy of RBI to conirol & regulate credit & money Supply with the help of quantitative &
qualitative measures of eredit control.

e S e B Tl e S

1 Price: stability

2. To correct Adversa BOP

3. Full

4. Economic Growth

i Balanced Regional Development

EXIM Bank —» for foreign Trade

SIDB]—» M5SME

MABARD— Agriculiure & Rural Development

(8 Great Equality of income and wealth distribstion

Iestraments of eredit control of monetary pokicy

1] Quantitative’General measures are designed 1o contral & regulate volume of credit in - market.
Main Instruments or measures of Quantitative method are as follows 2

I Bank Rate: is the rate at which central bank re — discounts the approved bills of exchange of comenercial
Banks, Bank rate is the rute at which central Bank gives loan to commercial Bank for long tenm.
At present Bank Fate is 6.25% (in Avsgust, 2017)

L Raps Rate (RR) iz the rate at which central Bank provides loans end advances fo commercial Bank for short term
At present, Rapo Rate is 694 (August, 2017)

- Reverse Rapo Rate (RRR) is the rate a1 which RE] bomows meney from the banks.

At present, Reverse Rapo Rate is 5.75% (August, 2017)

Open market operations (OMO) means sale and porchase of Government securities & foreign Exchange

Wariable Reserve Ratho (WVRER)

is ba

OR
Legal Reserve Ratio (LRR) It is the sum of (CRR + SLR)
- CRR —+ Cash Reserve Ratio means every commeércial Bank is required to keep certain % total cash deposits with
RBIL
Al present, CRR is 4% (Angust, 2007)
L SLRE — Stamtory Liquidity Ratio means every commencial bank is required to keep corizin % of motal cash
deposits with itsell by investing it in government approved secarities.,
At present, SLR is 209 (Faly, 2017)
(i) Qualisative or selective measures are designed 1o control & regulate purchase and direction of eredit in the
market main instruments o measures of qualitative or sclective measures of credit control are
I Margin Requirement = Valae of Asset — value kept as secarity of Loan
2 Moral suasion means appeal 1o commercial Banks pablic by pressure & persuasion
3. Regulation of consumer credit means changing down payment & no of Installment roles for cradit
4. Credit Rationing means changs max. Limit and purchase of loan.
3

Drirect Action means taking comective actions against emmor making banks.

Taflation Defation
(i) Duantitative mexsure
1. Bank Rate, Rapo Rate, RRR 1 i
2. Open Market operation sale Purchags
3. LER=CRR + 5LR 1 !
(i} Qualitative measures l
1. Margin Requirement 1 T MS
2. Moral suasion I M5 Simple(less D.P. more ink%
3. Regulation of consumers credit ~ Tough t ma. Limit of loan & purposs
4. Credit Rationing |Max. Limited & no of purpose 1 MS
5. Direct Action {1 money supply)
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Demonetization: Demonetization of currency means discontinuity of a particular from circulstion and replacing it with a
BEW CHITERCY.

The government of India in November, 2016, demonetized T 500 and ¥ 1000 currency. That means that the legal tender of
currency unlts was declared invalid from the specified date. The move of demonctization has been welcomed on the
following

It would belp the government to track unsccounted black money or cash on which income tax has not been paid.
It would help in reducing illegal activiry. Banning high-value currency will halt illegal nctivity as the cash
provided for such activities has no value now.

Fake currency circulstion would come to s ball in a single shot.

Demonctizstion could help controlling inflation. When there is very high inflation. One solution can be to
completely change the currency and to start afresh,

Moaey depasited in the bank during demonectization can be taxed especially if the affected parties were trying to
evade taxation by keeping hard cash.

Available of cheap deposits in financial institations means that people can borrow maney ot bow interest raes.
Due to low lending rates, improved revenue collection, and growth in savings and deposits, & coantry that has
demonetized s fkely to see an improvement in the growth of jis GDP.

However, demonctization has the following main dissdvantages:

Cash cnumch due 1o non-availability of small denomination curmency st least in the short run

Increase the cost as the government had to bear the cost of printing of new currency and its circulation,
Incomvenience to the public,

Economic growth may get affected in the shart run due 1o basiness disruptions,

The normal trading activities may be disrupied by this process since it takes time for consumers and suppliers to
wdjust to the new menctary policy.
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MODEL TEST PAPER

101. Which of the following is & reason for the negative slope of the PPF?
{a) The inverse relationship between the use of technology and the uee of natural resources.
(B} Scarcity af any point in time we have limited amounts of productive resources.
Hesource

specialiration

(d) Increasing opportunity costs,

1ok, SISRY stands for
1] Svaran Jayant] Shahari Roxgar Yojana
(&) Shahari Jeewan Sudhar Rasheriva Yojana
(&) Sampoorna Jeewan Shahari Roxger Yojana
(d) None of the shove

103, Who [ the regulatory authority for telecom in Indin?

() SEBI
(%) TRAI
() MTNL
(d) BSNL

104, Which of the following has resubled in failure fo achieve targets of industrial production?
w] ::- finance and labour problems
() Tltlmlhl.‘lﬁm:lpﬂmhu
(d) All of the above
105, mlmufﬂmmmmmmmamurmnﬂmmmﬂm
ﬂ.qﬂﬁﬂ

(m) Small Scale units

(1] Private sector units
{c) Public sector unkis
(d) Sick units

106, Which of the fellowing statements {s correct with regand to external sector in the pre-reform period?
] The foreign trade policy was very liberal, it allowed impont of all types of goods.
(k) Impon of food grains was strictly prohibited
() The balance of payments situation was quite comformable
() None of the above.
107, In the present context, money stock in India refers to :
{a) Ml (b M2
(c) M3 (d} M4
108, Giffen goodsmrethose goods
{a} For which demand incresses as price increase
(B} That bave o high income elasticity of demand
(e} That are in short supply
(0] None of these
104, Three methods of computing national income are

(k) Balance of payments, income and consumption methods.
(4] Saving, imvestment and income methods
(d) Outlay, depreciation and production methods.
110. The lender of last resort” means
{a) The government coming to the rescue of poor farmers
(1] Central Bank coming 1o the rescue of other banks in times of financial crisis.
(4] Commercial banks coming to the rescue of small Industria)l units
() People coming to the rescue of commencial banks in thmes of thelr financlal crisis.
111. Demard for final consumgion arises in
(a) Househald secior only.
() Government sactor anly,
{c) Boih household and government sectorn.
{d} Meither bouschold nor government sector.
12 is n systematic record of all the economic transactions between one country and rest of the workd,
(a) Balance of trade (L] Balance of transactions
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(b) Budges

(&) Balance of payments
113, If borvowings and othver lsbilities are added 1o the budget deficit we get
(=) Revenue defielt
(b} Capital deficit
() Primary deficiz

(e} Fiscal deficit
Consider Sumit’s production data given in the table. Use Table o arswer questions 114-118

Number of Workers Total
i

;

i
=

2

Bis R85 5=

=|efoa]=alonua) s fus

L
=

114, Suppose Sumit has to pay his worker ¥ 20 per hoar, and further suppose there are no other production costa ot all. What is

the marginal product of the 5th worker?
(a} 12 () 9
(c} 7 d) 8
115. In Table Sumit’s Average Total Cost when 40 unbis are produsced is:
(@} g2 {b) T80,
(b) L (d) T20
116. Using date in Table we know that the approximate marginal cost of the 52nd unit of cutpur is:
(a) 7025 () T2
(€} T30 (d) T4.00

117, Supposs Sumit decides o purchase fire ingurance which costs ¥ 87,600 & year. (As it happens, it works out to be T 10 per
howr) The approximate marginal cost of the 52nd anit now 13;

{a} T025 (k) T 125

() 2250 : @  Ta00
118. Sumit’s marginal product of the 9th worker

{2} 2 units

() 3 units

{c) 5 units

(d) 7 units
119. A necessity is tefined as a good having:
{a) A positive income elasticity of demand
(3] A negative income elasticity of demand
(=] An income elasticity of demand berween zero and 1.
({:}] An income elasticity of more: than 1.
120, ITa firms average variable cost curve is rising, its marginal cost curve must be

(@) Constant.
3] Abave the total cost eurve
(&) Abowe the average variabbe cost curve

(d) All of the above
121. Which among the following is incorrect?
(a) India adopted planning as her way of life because she wanted to quicken industrinlization and economic
development with optimum wilization of resources and reduction in inequalities. -
(b} Removal of poverly and the atizinment of self-reliance were two basic objectives of the fifth plan.
(€} Indin has never been able 1o achieve its targeted rate of growth.
() The Second plan was & very ambitious plan a5 seeds of industrialization were sowed.
122, Reserve Bank of India is India®s:
() Central Bank
3] Biggest commercial Bank
e Biggest conpenstive bank
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e} Hmnwﬂhﬂpbhnmﬂhmmﬂmm

(d) Any of the sbove.
124, tl:]mrupﬁ;h;aﬁuﬁ-mnfumprmmmm
1-51
(b} 1961 =71
=) 1971 =81
(d) 1981 - 9]

125, Suppose India’s GNP increased at an annual average rae of 6.6% during the Tenth Plan, presuming that the growth rate of
populstion is 2 per cent per annum; per capits income would ncreass 51 on annoal sversges rate of

(a) 3.3%
b} 4,6%
{eh 6.6%

%
126. hmﬁmmwnmm“
(a) Income method

Value added method
(5] Expenditure method
Distribution method
117, WDP s GDP minos .
fa} Depreciation
(i3} Indirect taxes.
(el Subsidies
(d) NNF .

128. Which of the following ststements is comect?
) In a two-good ecanomy, the production possibilities frontier reflects the maximum amount of one good that can
be produced when a given amount of the other good is produced.

(b) Microeconomics is the study of the behavior of the economy as a whols,
=) Posizive economics focuses on welfire of the people of & society
() None of the sbove

129. An individual firm in a perfectly competitive market faces a demand curve which s:
() Relatively melastic
() Perfectly elastic
(d)  Upward sloping

130, Which of the following statements is comect?

{a) Countries which are industrially well-developed generally have higher per capita income than countries which
are pot
(&) India is & copital surplus economy
{c) Agriculture sector need nod depend upon industrial sector for its growih
(d) Mone of the sbove.
131. EAS stands for
(a) Ensy Assistance Scheme
) Endless Assistanoe Scheme
(€) Employment Assurance Scheme
{d) Employment Awsessment Scheme
132, The effect of incresss CRE will be redisced or nullifisd if :

() Bank rate is reduced
b} Becuritics are sold in the open market
{e) SLR b increased

(d) People do not barmow from non-banking institstions
133, Which among the following is an indirect tax?

{a) Incomstax

b  Wealth ax

(e} Custom duty

() Gift tax
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134, Net domestic expenditare is consumption expendinme plus

(a) Met foreign invesiment
b} Met foreign investment plus net domestie investrent
(e} Met iC imvestment

(d) Replacement expenditure
135, Custom duties are feviedon

(n) Immnrhh:h‘vum
b} Production of goods
(e Export and impont of goosds
(d) Incomes of the corporate
136. If a8 a result of 20 percent fall in the ticket fares the demand for *waiching movie® in the cinema hall increases by 10

(a) Zero
(b Greater than pero but less than one
() One

i Cireater than one

137. When some people in a society are unwilling to work ot the prevailing wage rate and there are people who have income
from property or some other sources and need not work, such people ane:

(a) Casually urempboyed
B} Chronically mnemployved.
e} Voluntarily wnemploved
(d) Disguisedly unemployed
138, If out of 100 people in the labour force, 92 are in the work force, the number of people unemployed is:
(a) g
(B} 192
] 100
(d) 92

13%, If demend for goods and services s more than their supply, the resultant inflation b
(a) Cost push inflation
(] Swgflation
c) Deflation.
(d) Demand pull inflation.
140, Estate duty was bevied on the
(a) Incomes of the individual
(1] Production of goods
(<) Expart and import of poods
{d) Total property passing fo the helrs on the death of a person,

141, Couniries are more subject 1o cyclical fluctmmions,
(n) Eurcpean
b} Capital biascd, advanced countries
(<) Asian
(4) American
142. Electrickty pmwdﬁmmh called
(a) Thermal electricity.
(k) Hydel electriciy.
<) Atomic energy.
(d) Tidal energy.

143, Suppose that the price of a new bicycle is T 200, Natalie values & new bicycle at ¥ 400, What is the value of total consumer
surplus if Katalie buys a new bike?
{a} T 500 (b) T 300
() T 200 (4 2400

144, Suppose that at a price of T 300 per month, there are 30,000 subscribers 1o cable television [n small Town. If Small Town
Cablevision raises its price to ¥ 400 per month, the rumber of subseribers will fall to ¥ 20,000, Using the midpoint method
for calculating the elasticity, what is the price elasticity of demand for cable TV in Small Town?

(a) L4
(b) 0.66
(<) 0.7%
@ 20
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145, Enwmmumﬁ"mmhn.mmmm is able 1o actually buy it for T 1,80,000 her consumer

(a) T18,000
1) T 20,000
(&) ¥ 2,000
(d) %o

146. Which of the following is not part of the opportunity cost of going on holiday?
{a) The money you spent on a theatre show
b) The money wou could have made if yon had steyed at hame and worked
) The money you spent on airline tickets

(a) Large government deficits cause an economy to grow more slowly.
(-1} People work harder if the wage is higher

() The enemployment rate should be bess,
{d) Printing too much canses infiation,
148. If 4 farmers can do a field job which i3 being done by & farmers, this means there is:
(8) Frictional wemployment
(=11 Disguized wnemplovment
(€} Voluneary unemployment

{d) Seazonal unemployment
149. The rate of inflation was lowest in

(a) Fifties
(b) Sixties
(4] Seventies
) Eighties
150, In the year » the practice of RBI kending o the government through ad hoc treasury bills was given up.
(n) 1951 (b} 1997
() 1991 (d) 2001
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